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CKY O — K : SLEDFTHIAH
# “Ihs \t rhs \t prob \n" T X DXEZ FTFH AL

make list nonterm # (£, A 1, 52, X)) OIEKIFEES
make map preterm #pre[ B ] =[( £, H#X)..] HFRXDO~<Tv 7
for rule in grammar _file
split rule into Ihs, rhs, prob (with “\t") # P( £—7% )= HE=R
split rhs into rhs_symbols (with “ )
if length(rhs) == 1: # BIIRIREE S
add (/hs, log(prob)) to pretermirhs]
else: # FE#ImECS
add (/hs, rhs|0], rhs[1], log(prob)) to nonterm
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split /ine into words
make map best_score # 5|Z =sym {E = s AXIEHEZ

make map best_edge # 3|# =sym, f& =(Isym_, rsym, )

# AU Imac = 2 B0
foriin O .. length(words)-1.
for Ihs, log _prob in preterm where P(/lhs — words]i]) > O:
best_scorellhs | =[log _prob]
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forjin 2 .. Iength(words). #j X2/ DA
foriinj-2..0: #ilE A/ OER (BDLAEANNIE !
for kini+1 .. -1 # K |& rsym DFIR =
# B/3EIL—IL %= B log(P(sym — Isym rsym)) = logprob
for sym, Isym, rsym, logprob in nonterm:
# WADFHOHEERNO LY KEL
If best_score[lsymi’k] > -0 and best_score[rsymk’j] > -00:
# D/ —R - DONBHEERZETE
my_Ip = best_score[lsymi’k] + best_score[rsymk,j] + logprob
# COWUDERZRARADE DR OB
ifmy Ip > best_score[syml_j]:

best_score[symij] =my_Ip
best_edge[symij] = (Isym_, rsymkj)
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V# TRKEES 1S AHS

PRI NT(SO,Iength(words)

subroutine PRINT(Symi’j)Z
if sym_exists in best_edge: # eI ImEL =
return “(“+sym+” “
+ prINT(best edge[0]) +“ " +
+ priNT(best _edge[l]) + )"
else: # #RimEcS
return “(“+sym+" "+wordsl[i]+")”
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« & cky.py
7T A b
e AJ1:test/08-input.txt
« )5 :test/08-grammar.txt
e 7] :test/08-output.txt
« EEOT—FIIHLTE}HT
e data/wiki-en-test.grammar, data/wiki-en-short.tok
« RZAHRIk
e 08-parsing/print-trees.py < wiki-en-test.trees
e (NLTK 24 VA MN—IL T 2wnEH Y : http://nltk.org/)
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